BC-02

Business Statistics

SATIATRIk TTRedehT

At TTITIHS T (Very Short Questions)

1.  Give a main definition of statistics in singular sense.
Hifleaeh! 31 Tehara o 9 H T qieaTeT SifSrI?
2. Enumerate four main characteristics of data (Statistics).
GHhi shl =R @ fayarg fmsy 2
3. Name four principal methods of statistics.
iftegsh! ol =R e Al o A1 sdrsa?
4.  Point out the main object of statistics.
Hiftershl T T E 3T Fd15d?
5. State four areas where applied statistics in used.
STaERE AiReTeh! o SN o = &1 TaT5d?
6.  What is the meaning of collection of data?
TR o HIRUT © HT ST 27
7. What are primary data?
rerfireh e o hEd 82
8.  State the meaning of secondary data.
Tocitareh T 1 o7 SraTsa?
9.  Give one example for the difference between primary and secondary data.
TTertHeh o fdiaeh R § 37aT 1 Uah IETEL0T SfSTa?
10. State two differences between direct personal investigation and indirect oral investigation.

STCART SATTHIT STTEUT qAT TS HIRgeh STE-H | I3 a1 L Tqrga?

11.  What do you understand by classification according to attributes?
TR TR0 & T T WA 8 2
12.  What is the meaning of classification according to variables?

T % AR G Ao &7 AN 22

13.  Give an example of discrete variable.



14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

Qfved =T T T 3SR Sl ?

What is the meaning of inclusive series?
BEIENIEP U2 NE

Give an example of exclusive series.

Aqafsia Aol &1 T e T 2

What is the meaning of cumulative frequency?
Tt ST & T ST 22

What is bi-variate frequency distribution.
et s faor R e 29

What do you mean by measures of central tendency?
HET T F W F T T R0

State different types of statistical averages.
TiRgehla ATEAT o YRR TS 2

Define arithmetic mean.

THTX AT T qreTsT e 2

Give the definition of mode.

ERGEFEAR TN L

From the following data calculate arithmetic mean.
10,15,20,25,30,5,8,12

{9 3fioRel 9 FHTAT HTET JTd hIfSTT 2
10,15,20,25,30,5,8,12

Calculate median from the following data
5,8,9,10,4,2

1 Afher o AeehT F1d hIeIT?
5,8,9,10,4,2

What do you mean by dispersion?
IR & AT W ] 2

What is range?

foream fore Fea B 2

26. What is the difference between absolute and relative measures of dispersion?

e wa e SufsRtor & AT § T ST 22



27. Find out coefficient of variation, if: mean = 31, Standard Deviation (0 =15.94).

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

forror RRUEIG] FIT IfS... mean= 31, Standard Deviation (0 =15.94).

What do you mean by standard deviation?

T foee | R SR R 2

State the main difference between dispersion and skewness.

TR T forwar § i sy 2

State the main difference between absolute measure and relative measure of skewness .
formar & fer 4w we w9 A THE Ha SdEy 2

Find out Karl pearson’s Coefficient of skewness if (Mean) X=39.27, M=45,S D=22.83
e foereds ot forwn wquries 3 S afe (Mean) X=39.27, M=45, SD=-22.83
What is the formula given by bowley for measure skewness ?

TS T formar AT wveet g RvE 2

State the meaning of correlations

BRIl iR EERIHY

What do you understand by multiple correlation?

g wEEEy § AT R G B 2

Enumerate different methods of calculating correlation

gedey J1d A ki fafi=r Gfcemr & am e 2

Give the formula for finding out Karl Pearson’s coefficient of correlation by short cut method.
A [UE o edeY T J1q H I @ Afd w1 g i 2

When should the rank difference method be used?

Fife stax Ofa w1 v Fa foram Sar 2 2

State when concurrent deviation method is used.

et foeem df 1 s e foRm ST @2

State the meaning of regression.

T ST 37 SqrsT 2

What is the difference between simple and multiple regression .

T e ST Ao 6 R SR 2

State the regression equation of x on y.

Xl y I YATTHT FHIROT 18T ?




42.

43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

State the formula for regression coefficient of correlation on the basis of regression
coefficients.

SO TOTTshT o TR 0 FEEe4 T[0T JTd LA 1 G 15T 2

If the value of two-regression coefficient are -0.5 and -1.28 find the value of coefficient of
correlation.

afe TET AR TR o e -0.5 qUT -1.28 B I WeERd UM A1 W HIA H 2
Define index number.

Gershich shl TR AT ?

What is the meaning of price relatives.

T & &1 AR © 2

Write the formula of calculating index number by family budget method.

qIiETiE aete Ofd & gEehish J1a w0 H g e 2

Why Prof. Fisher’s call his formula as ideal formula.

fRR 310 ¥ &1 3Tex! §F R/ Fed © 2

What is splicing.

e = g ® 2

What is the meaning of deflating of index numbers.

et 1 ATHT & T AR B2

What do you understand by base shifting .

SR qiEdT o FIT TS 22

State the main difference between weighted and unweighted index numbers.

IR o ST Feehishl H THE S S5q

Define business forecasting .

SRR A ! TN ShifSg

State any two characteristics of business forecasting .

ST qATTH T a1 foRivard srse

State any two limitations of business forecasting .

STSATII GATH 1 a1 HHIT Sd3e

Name the methods of business forecasting.
ST qaiga s Afeat & 4w g

Define time series .



57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

FTT goft sl gfenyg i
What is trend
IyAfq T R 2

What do you mean by cyclical variations .

T I=AEEAT U ST AT G 2 ?

State the difference between seasonal variations and cyclical fluctuations .

HreHt foeror @ =sh IsamEeH § Sia SaRy ?
What is the method of semi averages.

st wrey fafyr w2 2

What do you mean by short term oscillations .

STCURTAT ST & 3T T FHIA 2 2

Define probability .

STRehdT shi aitdTeT difeig

Explain the meaning of mutually exclusive events.
TER TSl AT T 37 Ty

What do you mean by inverse probability.

it AT SgcshH TTRIHaT | ST AT FHA € 2

What is the difference between independent and dependent events.

AT TE AN TeATAT | T I 22
What is compound event .
I T TR wEd 2

Name three approaches of probability.
TTRehdT i 1 STTUROMAT o W Fqed

Determine the probability of getting out come of one or two spots in a through of a six faced

dice.

Th 6 UTdTel WTROT U ol Wehd OT foirg 131 2 1 ol Wifyshar skt feior shifsig

If one card is drawn at random from a pack of 52 playing cards what is the

the card will be diamond.

probability that

qwRT AT 9ot e @ Al ek ®T ¥ UH U WiEr S A @ Wk e R ag o $2

FE?



70.

71.

72.

What do you mean by probability distribution.

TIRERT e | ST HT I B 2

Narrate a main feature of binomial probability distribution .
fogug sie 1wk e famiwdr A S A 2

Define poisson distribution

QT s R aitTig shifsig

TYTITcHeh T27 (Short Questions)

1.

Give the definition of statistical data and clearly describe its functions and limitations?
Tkt Y aierST ST e gHek st we uft Eiuret s Ty w @ o hifs)

Discuss the scope and importance of statistics in detail.

TifleTehl o & Ud HEcd ol fodi & TS|

Statistics may be defined as the collection, presentation, analysis and interpretation of

number data “Explain.

“QIREThT ! HGATH THb! h HeheT, TEQAIeR0T forseisur qorm o= o &9 § gfeTiva fera S
HHAT 21 TS

Examine critically the important methods of collection of primary data.can  any  one

method called the best under all circumstances?

Srerfies EHeRT o HIET 1 qE Al sht STeiT=TcHe: AT #hifSTy) R shig Qi avit afReerfaat §

AT el ST el & 2

What are the various methods of collecting statistical data ? which of these is most

reliable and why?

wifleaeh wreft o wwrgor <At forfvr=T Tfcat @ & 2 g sniet Giftr wor 3tferen forgarfia & SRl 2

Clearly distinguish between primary data and secondary data explain the various methods

of collecting primary data.

s qur fediaes gaent § idw wom HifSe gor grerfies guent o gufed s i dfaat i s
ifs

What is questionnaire? Describe the merits and demerits of the method of collection of data

through questionnaire.

AT fohE Fed 8 ? TSTTae! ST SHeh ST o T[0T &1 T U Hifry|




10.

11.

12.

Explain the rules of additive theorem with illustration.

2 wifsa % fore T SeTetor wftd wHEmsa

From the following data prepare a discrete series and also a continuous series taking a class
interval of three each:

fAfTRaa v @ Te Gived J0iT SHTSY qT 389 i ohT STI=IE Tioht Ueh ST@fved Juft STl
1,2,5,3,12,3,3,4,5,14,13,4,10,11,11,5,3,12,4,10,11,11,11,8,8,8,5,6,6,7,7,8,8,6,7,8,9,2,6,12.
Using sturge’s Rule n =1+3.3 log N; where n is the number of class-interval , Nis the total
number of observations, classify in equal intervals , the following data of hours

worked by 50 piece rate workers for a month in a certain factory :

TSI T 9 (Sturge's Rule n =1 + 3.3 log N) T SRINT 3Ad g Tk ARG % 50 FHHATAT 6 Th
HTE T hTH o TUT shl TH STl § Sfishd shifTq)

110,108,165,103,113,140,42,167,149,87,175,164,133,150,69,144,60,124,104,40,161,128,195,16
2,121,71,62,164,187,122,157,114,151,149,93,94,138,146,184,203,155,178,141,79,143,87,156,1
16,197,148.

Use log 50 = 1.6990

Change the following into exclusive series :

ffetfiad =t stoasit @fved 2ot 7 gitEfdd i)

5 men get less than Rs. 4 30 men get less than Rs. 16
12 men get less than Rs. 8 36 men get less than Rs. 20
22 men get less than Rs. 12 40 men get less than Rs.24

Change the following into exclusive series :

ffetfiad a1 stuastl @fved 2ot 7 giEfdd i)

Income between No. of persons Income between No. of persons
Rs. 100 and Rs. 200 15 Rs. 100 and Rs. 500 83
Rs.100 and Rs. 300 33 Rs. 100 and Rs. 600 100

Rs.100 and Rs. 400 63

13. Change the following into exclusive series :

ftefiad a1 staasil @fved 2vft 7 giEfdd i)

Central Size 1 2 3 4 5 6 7 8
Frequency 5 30 25 15 10 8 4 3



14. Change the following into exclusive series :

ffefiad a1 sTaasi @fved 2vft 7 giEfdd i)

Wage Lessthan  Less than
in Rs. 8 16 8-24 16-32 32-40 40 &above
No. of person 08 20 32 45 20 15

15. Compute central values from the following series:

forer 2roft 36 Shesfter et ot TTorT e -

Less than 60 50 40 30 20 10
Frequency 12 9 6 4 3 1
16. What do you understand by Ogive or cumulative frequency curve? Draw such a curve on the basis

of a statistical example?

JANSITE a5k I Tl ST oI5k & 1T T A0 2| Toh HIReThHI ISTEXT Goht UHT J5h TS|

17. From the following date draw up a histogram and frequency polygon:

ffcTRad wwent & STaf STRIq o o STfd syt I i)

X 0-5 5-10 10-15 15-20 20-25 25-30 30-35
f 2 5 10 20 10 5 1

18. From the following data find out the value of mean:

ffoTfierd wHeht & SHT-R HTEd 1 7o 1 shiTSTg

Age in years 10-20 =30 —40 -50 —-60 =70 -80

No. Persons 2 4 4 8 6 3 2

19. Calculate arithmetic mean from the following data (age in years) :

T Afene (31 o H) | THT=R HTe 1 Shiferg

(More than) : 0 5 10 15 20 25 30
(No. of persons) : 100 95 85 71 51 16 1

20. From the data given in following table, calculate median, quartile first and quartile third.

frferfiad el # S wHehi & HEeRT, WO o i Sl sl TUMET shifT)

Marks (out of 70) 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | Total
No. of Students 10 20 40 15 05 00 10 100

21. ffaftaa gvent @ 1 =1 afteraH hifso)




22.

23.

24.

Mean (X), Median (M) ,7" Decile (D,) and 85" percentile (Pg;)

Deposit Balance No. of Deposits Deposit Balance No. Deposit
(Rs.) (Frequency) (Rs.) (Frequency)
1000-900 2 500-400 74
900-800 18 400-250 175
800-600 5 250-100 100
600-550 35 100-0 25
550-500 66
Compute Mode of the data given in the following tables:
fwiferd AT # S Gkl T SIgeTeh T shifery)
Marks Number
10 but under 15 3
5 <« “ 20 7
20 7 <25 16
25 ¢ <30 12
30 ¢ “ 35 9
35 ¢ “ 40 5
40 <« < 45 2
Find out mode of the following of series :
B PUIEEESERIGEAIS 1
(Class) 0-9 10-19 | 20-29 | 30-39 | 40-49 | 50-59 | 60-69 | 70-79
(Freq) 1 2 6 12 5 3

A club played 25 matches during a week and scored the following goals per match find out the

average number of goals, median and modal goals.

Teh &9 3 Ueh U8 | 25 89 Ul 31 Ffeiiaa Mo gia 8= fohu) Tt Al 7o ST, AedenT Ug

ERSERISEAIEI

Match played

Number of goals scored per match




25.  Discuss the relative merits of various measures of dispersion.
FqfeRtor o fafvr= wrat o wrdferes ot s fersr=rr sy
26.  The monthly profit /loss for six months of factory are as under , calculate range and its
coefficient:
T gt U W 11 B WIE o - BT (e @ fored i T 3o TUrieh sl qiuTomT shifsg)
Months Jan. Feb. March April May June
Profit/Loss in 5,000 10,000 2,000 -5,000 1,000 -2,000
(Rs.)
27.  Calculate Quartile deviation and its coefficient of dispersion from the following data:
FefeTRad wrwen! & =rqeleh for=ie (Q.D) T 36 TUTeh (coefficient) I T0HT  HifSy]
Age in yrs. 5-14 | 15-24 | 25-34 | 35-44 | 45-54 | 55-64 | 65-74 | 75 & over
Married Females 61 240 237 153 83 33 11 4
28.  From the following information about the accidents on a road, calculate the mean
deviation from the median and its coefficient.
Teh Tgh W gﬁc-ﬂ\ﬂl‘sﬁ T T § ARt g AT foreier qelT e uren i shifsg)
No. of Accidents per day 0 1 2 3 4 5
29.  Calculate the standard deviation and its coefficient from the following data:

T TweRt & ST et oI 39 T[Tk 3 TUMT shifeTg)

Temp. °C  No. of days Temp. °C  No. of days
—40 to -30 10 0to 10 65

-30to-20 28 10 to 20 180
—20to—-10 30 20 to 30 10

-10t0 0 42




30.

31.

32.

33.

34.

35.

How will the skewness be tested in a distribution ? Explain with example.

T ferareor o fersmrar &t st foh TeRm St STart Seretor wfed aweE

From the following data , calculate Karl pearson’s coefficient of skewness based on

mode:

freferfiaa went & et e o1 aIgereh W ST forwet 7ok J1a hifs)
Weekly salary (Below Rs.) : 80 90 100 110 120 130 140
No. of Stenographers : 12 30 65 107 157 202 222 230

150

From the following table compute quartile deviation and coefficient of skewness from the

quartiles and median :

T wreft & =rqelen fomrer o wIqelent o HereRt | formar ok 31 hifs

Size: 4-8  8-12 12-16 16-20 20-24 24-28 28-32 32-36 36-40
Freq. 6 10 18 30 15 12 10 6 2

Find the quartile measure of skewness and its coefficient from the following :

frfcTiRa & forwaT o1 <iqeles wTd qe 3Eeh Ui 14 shitsTg)

Variable 0-5 5-10 10-15 15-20 20-25 25-30 30-35 35-40
Frequency 2 5 7 18 21 16 8 3

Calculate coefficient of correlation between wages and cost of living from the following

data ;

wSIgl qoT FaTe S et e et @ weavar i aRoET Hi

Wages: 100 101 103 102 100 99 97 98 96
Cost of living:98 99 99 97 95 92 95 94 90 91

95

Calculate Karl Pearson’s coefficient of correlation between capital employed and profit

obtained :



36.

37.

38.

39.

frfofaa avent grr fafefo OGSt wdl o o & wex el [UeEe o 9 § seers-y Ui 91

ity

Capital Employed :10 20 30 40 50 60 70 80 90 100
(Rs. Thousand )

Profit obtained : 2 4 8 5 10 15 14 20 22 30
(Rs. Thousand)

Calculate the coefficient of rank correlation from the following data:

T THent & ST HedveY TUTieh T TR shiTsTg|

X 48 33 40 9 16 16 65 24 16 57
Y 13 13 24 6 15 4 20 9 6 19

Calculate coefficient of rank correlation from the following data of marks of ten students in

statistic and Economics:

7w forenfoft o wiftearsht Qe S7oiRITer o STHIh! § SHHT-R Heaw=4 Ul J1d hIf)

Roll Numbers 1 2 3 4 15 6 7 8 9 10
Marks in Statistic 45 | 56 | 39 | 54 | 45 40 56 60 30 36
Marks in Economics 40 | 36 | 30 | 44 | 36 32 45 42 20 36

Calculate coefficient of concurrent deviation from the following data:

frmferfiad et @ wTt forerer Gifc g aeewsr- 1ol S shifsy)

Year : 2000 2001 2002 2003 2004 2005 2006
Supply: 150 152 60 172 60 165 180
Prices : 200 180 170 160 190 180 172

Define regression. Why are there two regression lines? Under what conditions can there

be only on regression line?

STTOrTE 3T qCTST TS ST taeTee <l {@d &1 ol Bt & 2 fore aftRearfcat # shaet we &1 Jeltwme=

@ B Tl 8 2




40.

41.

42.

43.

44,

From the given values calculate the expected value of Y when the value of X is 70

and the expected value of X when the value of Y is 90:

X Series Y series
Mean 18 100
Standard 14 20

Coefficient of correlation between X and Y series =+.8.

frefafiad fow 8T qedi & (Y) %1 geifad qod a0 hINT Stelfer (X) 1 qed 70 & 97 (x) A

HETTod Jed ST ST Sfeh (Y) 31 9e 90 2|

From the following data ,calculate coefficient of correlation and determine the two

regression lines:

FFTCTRE HHeh & FEEws-d T (R) 3T TRERTT hiTSTT, ST ST (@Td J1d hifsg

X : 1 2 3 4 5 6 7 8 9
Y : 9 8 10 12 11 13 14 16 15

Estimate the value of Y corresponding to X=6.2.
Y 1 SHM 1 foh{SIT ST 3{ed &9/ X = 6.2 dk rRlaoknh gks A

Find out the regression coefficients and the coefficient of correlation from the following

data :

frfoTfiard Erwehl | SwTHH T[UTish Tef FEEwsI-2 T0Tieh T shifsiy)
X o 10 20 30 40 50

Y : 20 50 30 80 70

Define Index Number and mention its uses.

GErshichi ol TTHT ST T 36eh ST IX FhTRT ST |

The average retail prices of a commodity was as under. Calculate price relatives for
all the given years: (1) Taking I year as the base ; (i1) [V year as the base ; (iii) average of first

years as the base:

Teh o T 3T Bl Ao frrard o ges & fog H(_\cwgqm\i T I Shifeig)



45.

46.

47.

® T Y I STUR A
o =Y N I AT AR
o TN TH NI o HIEd He o AT T

Years I II III IV A% VI
Average : 25 35 30 50 62 6.8

From the following data calculate Chain Base Index Numbers:

FfcTRad TrweRl | 2@ HTR Fershish J1d hifsT)

Year 1993 1994 1995 1996 1997 1998 1999
Prices in Rs. 20 24 30 36 54 86.4 129.6

From the data given in the following table, calculate consumer’s price index numbers for the
year 2004 taking 2003 as base using (i) simple average ,and (ii) weighted average of price

relatives:

frferfiad amoft & e |wehi | 2003 o TR W 2004 9 o {eTT STHIRT HTT Gelehieh T THherT
TATATAT 26T (i) T HIE AT (i) AT HTE 361 AN L g i)

Items Unit Price in Rs. Weights

2003 2004
Wheat Kg. 0.50 0.75 2
Milk Liter 0.60 0.75 5
Egg Dozen 2.00 2.40 4
Sugar Kg. 1.80 2.10 8
Shoes Pair 8.00 10.00 1

Construct cost of living index numbers from the data given below by family Budget Method

and Weighted Aggregative Expenditure Method:
frfafaa avet ¥ aitEnies =@ Ofa o Wi amies =@ Gfd s/ Stee et geeis &

=T SFifsT



48.

49.

Articles Qty. consumed Unit

Price (2000) Price (2004)

Base Year Current year
Wheat 400K gms. Per 100K gms. 200 240
Rice 100 Kgms. “ 320 400
Gram 100 Kgms. “ 160 200
Pulses 40 Kgms. «“ 320 400
Ghee 40 Kgms. per Kgm. 20 30
Sugar 50 Kgms. “ 4 6
Fuel 500 Kgms. per 100 kgms. 40 50
House Rent  One flat per flat 200 340
Find out the index number for the year 2004 from the following data using the weighted
average of price relatives method:
frmforfaa wweht & it ares gearaTa T 3 3 2004 %1 F=Hish I AT
(Commodity) (Weight) (Price)
2000 2004
A 4 50 100
B 3 30 90
C 5 20 10
D 3 60 90
E 5 20 120
From the following data calculate Fisher’s Ideal Index:
FfcTRad Twen! & e 3 3T1aRt Ferehich shi TTToMT HifsT)
[tems Price per unit (Rs.) Quantity used
2003 2004 2003 2004
A 9.25 15.00 5 5
B 8.00 12.00 10 11
C 4.00 5.00 6 6




50.

51.

52.

53.

54.

55.

56.

57.

58.

D 1.00 1.25 4 8

From the following data calculate index numbers of real wages with 1999 as the base:

AT wehi @ 1999 o ohT TR HIohL SARE{eTsh HSTGLl 6 Yerehishi hl TTATUHT shifery|

Year 1996 1997 1998 1999 2000 2001 2002
Average Wages (Rs.) 2400 2640 2860 3000 3420 4000 4200
Consumer Price Index 100 120 130 150 190 200 210

What is meant by business forecasting? What are its objects? Explain briefly the main

methods used in business forecasting.

ST JaTHT ohT T 379 & ? §9oh @1 3220 BId & 2 H&T H AT QA H Tgh shl ST
EISIRseRUTRIEAREEIER]

Give meaning and importance of business forecasting? Discuss the theories of business

forecasting?

ST GATTH 2T 372 T Heed SIATga? SRR YaITHT o FagT=di s forar=r shifery)

)

Discuss the utility and limitations of business forecasting?

ST GATTHT ol ST ST Haral 1 foe= hifsg)

Differentiate business forecasting and budget.

SATETTRIe YeAT Ud aIs1e H St €7 Hifsry ?

Describe different steps of business forecasting.

ST GATTHT o ffr=1 =l st ot hifsry)

What are the components of time series? Bring out the significance of moving average in

analyzing a time series and point out its limitations.

THT {1 & hIF-hIT Y WO BId @ 2 T AT o fIeelwor s § =T ATet o Heed 3T HiHredl o
TR SIFAT

What is trend? How would you find out the trend values by the method of least squares?

[lustrate by numerical example.

JATRT SRIT &2 AT S T FIT ST ST Ho S WIS hiiT? HEATeHe: IaTeXv Joht HHETsd

What is seasonal variation of time series? Describe the different methods to measure it and



59.

60.

61.

62.

examine their relative significance.

Teh ShTeT 01t 0 HreHT fommor <= 292 g8eh! a1 <Y fafsr= iR =1 ot Shifsre) e et amféren

KRR

Find trend values for the following data number of students in a collage using 3 yearly

moving averages method:

T HETToraTerd o foren ot ol S SRqd &, et SUATd qed 3 T4 =ie "red S 91 il

Year No. of students Year No. of Students
1994 1,500 1999 1,900
1995 1,800 2000 1,950
1996 1,700 2001 2,000
1997 1,750 2002 2,200
1998 1,850 2003 2,200

Calculate by short cut method of least squares ,for trend values of the following data:

It et o = i Afd sht o7 Afd & afeher Shifv)

Year 1999 2001 2002 2003
Sales (1000 Rs.) 35 79 80 40
Tt shret oft & wierft ufterd erhiss T afaTorET Hifsmy)
Year: Jan. Mar. Apr. June. July Sep. Oct. Nov. Dec.
2001 15 18 18 23 20 29 33 33 38
2002 23 28 27 28 22 32 37 34 44
2003 25 35 36 30 30 38 47 41 53
Using the data given below , calculate the seasonal variations and irregular fluctuations:
el T o1 Soeh ot B S aTere e A SeeTeT ot e 1R
Year Summer Monsoon Autumn Winter
2001 30 81 62 119
2002 33 104 86 171
2003 42 153 99 221
2004 56 172 129 235




63.

64.

65.

66.

67.

68.

2005 67 201 136 302

What is the chance that a leap year selected at random will contain (i) 53 Sundays,(ii) either 53

Sundays or 53 Mondays,(iii) either 53 Sundays or 53 Fridays
T ARG (i ) T & T {7 T =57 T 9T 36 o1 Shl AT FFATeT © o

(i) 53 @RS (ii) 53 V@ AT 53 WHAR BN (jii) 53 VAR AT 53 EHAR &

The odds against A’s solving a problem in statistics are 10 to 8 and the odds in favor of B’s
solving the same problem are 12 to 9. What is the probability that if both of  them attempt,

the problem would be solved?

3 o WIRSTehT % T & L o 9&T H GANITT 8:10 S ST T F THA TA FA F UG H  HAMTIITT

o

12 : 9 B1 S8 ST 3hi AT GFATSHT @ Toh 91 o ST 959 &l & Sa)

Two dice are tossed. What is the probability that the sum shown will be 7 or 11 ?

31 T9Y hehl U 39 ST <hY ST TTHRIehdT & foh 3T aTeY 37ehT shT IWT 7 47 11 B

A bag contains 5 red,6 black, and 4 green balls . What is the probability of getting a red ball
followed by a green ball in two successive drawn of one ball each, assuming that a ball once

drawn is replaced before draw.

Teh 9 H 5 ATA 6 et qAT 4 & T 31 IS Th-Uek Tig 5hAW: &1 IR fHerredt STt 2 df 98t a1 i
3T 3Heh vt & TG AT ot T STHehelt 82 7€ AT foh veell aR freprelt | e gqEd 7w

feRTer & v oo T foarm St 2

There are three urns. Urn A contains 8 red and 7 green marbles. Urn B has 5 red and 8 green
marbles while urn C contains 8 red and 4 green marbles. One red marbles is drawn from one of

the urns. What is the chance that it came from (a) urn A; (b) urn C?

T HAIT R 3T HAT T 5 AT SN § AT 37T 7 7 MieHAT 81 T 4 5 A1 SR 8 s Mot B
AT T FHA H ATA 3R 4 70 MIAAT 2 37 AN | T Teh AT Mt kT @ R GraTeT = o o8
(37) ‘3 FAY H (F) FAY H () & w1 § Fheril

Define Binomial Distribution with an example.

3Tl gied fgue sies o1 37 aweed)




69.

70.

71.

72.

What are the chief properties of normal distribution

ST s ol e fersrard s @ 2

Differentiate between binomial, poisson and Normal probability distributions.

foue, Wi 3T THHT= ST ohT ST Idrsd 2

Three fair coins are tossed 3000 times. Find the frequencies of the distribution of
heads and tails and tabulate the results. Also, calculate the mean and standard deviation of the

distribution.

i gt ek 3000 91 3BTt MU XM Tei Ue o sfe shl Afral F1d shifSIq) e sl ATed T THIT
[EESERIGESIY

The incidence of occupational disease in an industry is 0.25.What is the probability that our

of 6 workers 4 or more will contact the disease?

foret Semm # saTeETRes AR Y FRIEET 0.25 Bl 6 HeETiEl § ¥ 4 31ar AfUes wHETEl &
SR T B9 hT MRshar =T 2 2

Trerereass w2r (Essay type Questions)

1.

Statistics is said to be both science and an art , why ? explain
iftgeh! fog™ T AT SHT hel SITdt 8 2 =T THATEA?
State four limitations of statistics

HiRageh! Sl IR HHR AT

. Discuss the scope of statistics in brief

Hifgashl o &= i "ag # fad=mr Hifg
Give the definition of statistics in singular and plural sense.

Hiftgeh! S T go Ud Sgaed H IR g

. Explain importance of statistics

il T Hecd TR

. Distinguish between primary and secondary data

Trafyer qen fediaes @l °§ 1= Sqrsu

Name principal methods of collection of primary data
srafier @HeRl % €UEw i wq@ {fqal & T Sy
Differentiate clearly between a questionnaire and a schedule
TYHTEA qT S H A qUg iy

Name the sources of collection of secondary data



10.

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

focfiorer T o IR & WAl & 19 Sd1E

Describe the merits and demerits of collecting information through schedules to be filled in by

enumerators

SATUTR GRT ST hl Wl L GeqT U6 s o 07 ST ST S0 ShifSg

. Explain the types of statistical series

giftgeh! IR & T HHSTEY

Change the following cumulative frequencies into simple frequency :
Marks more than : 70% 60% 50% 40% 30% @ 20%
No. of Students : 7 18 40 40 63 65
ey d=rft ermarfeen @t areRor Tadt O uiafda #

Marks more than : 70% 60% 50% 40% 30% 20 %
No. of Students : 7 18 40 40 63 65
Change the following individuals series into discrete series :

o=t saferra 2oft vt @fveq Soft 9 sea -
X:15,17,18,20,11,14,21,17,16,15,21,22,23,22,17,22,18,22,19 & 20
Differentiate between exclusive series and inclusive series

JTuESt A qAT qHTAR SufteT # Tt Ay

State the characteristics of geometric mean.

TR HTER i foRINATg SaTsy

State the uses of harmonic mean.

TS WL o ITANT SA1ST

Explain the uses of median and mode giving examples

HEAHT QT g o AN IS hl TERAT H THHAEY

What is the relationship between arithmetic mean ,mode and median explain with an example

AR HTEA SgAsh q9T HEAeR o ol § 1 1 S 8T & 3aTeW 3 grEdl § SHesd
Three person X ,Y and Z can finish a job in 20,40 and 25 hours respectively . what is their
average speed?

A =ARE x,y T Z TF FE H FEM: 20,40 TAT 25 5l § U F Hhd 8 STh! €T T
ERII

Define dispersion and state its various measures

araferor i afearsr A qon gwek fafv=r 7 fafag

What is Semi-Inter-Quartile Range? State its merits and demerits

e} - =q foRaR ol Fhed € 2 38eh T[T AT QI 1 SIdISY

Explain why the standards deviations are regarded as superior to other measures of dispersion?
What is its chief defect?




Y fomie STafeRtor & 3171 WTdT I o § AT 3T=sT @l AT ST & 3EeRl e AN
7 ?
23. Write short notes on
dferg fewfrm forfau;
(1) foreror Uik (Coefficient of various) T
(11) 98T (Variance)
24. State the demerits of mean deviation.
q1ed foee™ o QW Sy 2
25. What is skewness? State the names of its measurements
foygar & T Y ® 238 A fY faltmt & Am sargy
26. State the objects of measuring skewness and distinguishe between positive and negative
skewness.
forogar A9 ST IR FART qAT GTCHS fATHAT AT HOMCHR forsHdT § 3t HifS
27. In a distribution, the mean is Rs. 15 and median Rs. 10. If the coefficient of variations is 70 %,

find the Karl Person’s Coefficient of skewness.

e forcor § @HIAR HTE 15 Rs. T HeghT 10 Rs. 8 IS forwor umish 70 % &1 a1 &1 fi;1Zu
EARCLECIRIMICANICECIIE 1Y
28. Karl Person’s Coefficient of skewness of a distribution is +0.25 and its S.D. is 6 and mean is 2.4.
Find the mode and median of the distribution.
Teh T fi;1Zu T ToreeT Treh +0.25 2, THTY foreiet 6 T HTed 24 8 forciul <Al Sigeish T Heaeht
EIGREICE N,
29. Explain the linear correlation between two variables.
1 = o TeA (T S Sl GHeTs
30. State the general rules for interpreting coefficient of correlation.
AEEFSY Uk o oo o " EHT T Iecid, I 2
31. What do you mean by scatter diagram? How will you interpret co relationship with its help?
fagu for @ 7 SR 2 39k YR W HeEry & e awsse 2
32. If N=10, ZX2=8,250, Zy2=724 and dedy=2,350, find out coefficient of correlation .
At N= 10, ,2X°=8,250, £y’=724 A Zdxdy=2,350 & A1 @4 UMk T TUMT HIRT 2
33.If N=10, ZD2=36,ﬁnd out coefficient of correlation by the method of rank differences
A N=10, 2D’=36 &1 a1 *ife At Afet T Teerar< Torh 1 HIT 2

34. From the following given data, calculate correlation by concurrent deviation method: C=3 , N=9

(No. of pairs of items)
T eqa s @ wHT e Gf s e ey a2
C=3,N=9



35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

Explain the difference between regression and correlation.

T 9 HEEErg H TR 9EEsy ?

Describe the utility of regression lines

T {ETSTT bl STFAT T v ShifsTg 2

The results of a survey conducted for the relationship between x and y are as under:

x Ty HTET TR JIq FA g R T gaww & frefafed aform sueey @
Mean standard deviation

X 173 63.15

Y 47.8 22.98

Coefticient of correlation (r) = +0.57

Compute regression equation of y on x

y T x T TerorTE FefieRer T feRfeRr

Write two normal equations which are used for finding the values of ‘a’ and ‘b’ in the least

squares method for regression equation.

= i Afd ST SR S o’ AT b’ % Al I B oq S A

Eeicau ey

From the given information find out regression coefficient of x on y :

TEQA FEAHATH x Wy T A TqTTHH TOrieh 1 fehforr?

N=8, Zdx =56, Zdy=40, Zdx’= 524' Zdy’ = 256 Zdxdy=364

Differentiate between fixed base and chain base in the construction of index numbers.

Feheh! sh! T H fER TR ST sierett SATeR Al 7 S g

Why fisher’s formula is called ideal? what are its demerits?

TETC =T 1 STeRT AT HEeATdT 82 §Hh FT TN € ?

What is chain base index number ? Explain giving example.
ST Garehieh foh¥l hed & 73aTENT Goht HHeigd

Explain Aggregative Expenditure Method as used in the construction of cost of living index

numbers?

Sfa farfe gershish shi ToAT H | ek 3 Qfd o ST Sl GHEATEA?

Explain and illustrate the difference between time reversal test and factor reversal test.

U IcehtHIdT TI&T0T qT ded ScohTHadT JOOT H 3Tt Ueh 3TEX0T hl Ugdl & THHTEY 2
Explain deflating and splicing giving examples.

HIEHITT U6 RIS i 3T 6l TerRar ¥ quesy

Give the importance of business forecasting

SHETRI GATTHT T HEcdl sId1sd

What is action and reaction theory?

foram wifsran frgia @am e 2




48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

Explain the objects of business forecasting

SR YaTTH o 363 T hIoRS

State the assumptions underlying business forecasting

STk GAITH sl A=A SdTsd

Explain the “Time Lag Theory” of business forecasting

TSI ETTH % et TS foeterT frgid st awems

What precautions must be taken in using forecasting?

JaTIH o STTART & S i | A=t o= =mfed 2

Explain briefly the “Cross cut economic Analysis theory” of business forecasting?
STeETIh GaTTHH o Sfci-feres 373 srfefen forsemor fgia i wifere samea frfra
What is “Economic rhythm theory” of business forecasting?

SATETRI JaIIHT T ST o Rgid 1 8 2

State the importance of time series.

A At 1 HEd Farsd

Explain the moving average method of measuring Long term used
ETefeRTeA sl ST st shY =it Hre ifer T wwemey

Explain briefly different components of time series .

=TT 21T o farfy Heresh WY ot wifers samea ferfsrr

Enumerate the different methods of finding our secular trend.

GaTERTCA ST o AT 6 farfer At o T srarsa

Explain and illustrate the irregular or random fluctuations.

ST A1 39 STaTaeHT Al HIETeT SrEHT R

Explain and illustrate the addition theorem of probability.

TRIRdT & FNTTcHeR THY Shi ITELUT SRl GHATSY

What do you understand by multiplication theorem of probability? Explain with illustration.
STRIRAT o TOM SH § 319 AT GHAd 8 2 ISTeXT Al THHATEY ?

A bag contains 5 red, 2 black, 3 yellow and 4 green balls. What is the probability of getting a red

or green ball at random in single draw of one?

Teh et § 5 ATt 2 =hiedt ot 3 oieft o 4 0 Tie 21 58 ST ol R IRk € foh Argfoossh &9 @ wh
Tig FRTeT R AE TS et AT & B 2

A card is drawn at random from a pack of 52 playing cards. Find the probability that a card
drawn is either a king or the ace of diamond.

52 1T o U7 § & Weh U1 STTITRT {HenTedt ST © 36 &1 sh STRiehdT J1d fohfort foh frehret T o=
T STSTITE BT AT $C T SeFehT BT 2

What is the probability of drawing a spade or a king from a pack of cards?




64.

65.

66.

67.

68.

69.

70.

71.

72.

TN T Teh TEET § | Teh T el STl & 39 STt ot T STRyehatt & Tob et ot ot gorm & &
SITERITE BT

Twenty balls are serially numbered and placed in a bag. Find the chance that the first drawn is
multiple of 3 or 5.

20 xsans T SHATTER TFR Sfohd X T FkSys H W1 T 36 ST 2l T SFATEMT & Toh o a1
ﬁBE]Flcf"l—i?xsan 3?1T5?mrTT\TDUT$ﬁ7ﬁ?

One card is drawn from a pack of 52, what is the chance that it is either a king or a queen?

52 91 Sl T TEET H H Teh U [Tl SITAT & 36 ST ol &)1 §rvTaT @ fof ket arett owin o
STEITTE I Tk ST Bt 2

If a dice having six sides and marked 1 to 6 is thrown. What is the probability of getting 1 or 2?
Teh TSI 576 O 1 © 6 TFel €Tt 713 ®, TS Weh S ookl ST T 1 7Y 2 37 ohY 3T TTiRiehar 272

A bag contains 4 black, 6 white and 7 yellow balls. What is probability of getting a white or
yellow ball at random in a single draw of one?

Q%%ﬁ4ﬂ?ﬁ, 6 Tthe T 7 dieft xsans %@Eﬂ'{ﬁ@ xsan o1 W 98 "he 3reran ficfi 8
T T TTRIekar 2t

An unbiased coin is tossed twice .Find out the probability of first getting the head and next
getting the tail.

T |TETT et &1 SR ISTAT ST & ToH IR H fored e £l SR 0 ue 37 3ht TrreT 1 fehfor
State four characteristics of poisson distribution.

ARG See ! A foRivaTe sarsd

A and B play a game in which A’s chance of winning is 2/3.Ina series of 8 games what is the
probability that A will win 6 or more games?

A T B T WA ©eld & 998 A o STa- oh! TiieRdT 2/3 § 8 A0 o @ 1, A 3 6 a7 314k a-

SicEEIRIPERINIGREAS PN,

In a multiple choice quiz each questions has 5 alternatives out of them only one answer is

correct. What is the probability of 6 correct answers out of 10 questions?

T o7 oo e Tl 8 9edeh T 5 fosher i @ 2 e & 1 smad 2 10 T A @ 6 I
T B ST T Tfehar © 2

For a Binomial Distribution the values of n and p are 16 and 2 ,Find the mean and variance of
the distribution.

T fgufeaor 3 fo1d n 3R p ST HE 16 3 1% 2 at forawor & o wwmeat Aresr o S&ror sht o
EJIEDY,



